% @ $ @ $ addition de f?rl;zit(i);lrsl f rflr;rc(:;;z §1ppr0priée )(

Nom: Date: Note:
72 6 7
— 4+ — = o6, 7 _
9 5 53
2 1 3
— 4+ - = 2,3
5 3 377
1 1 6 6
— 4+ - = 6,6 _
g8 2 29
2 3 5 7
— 4 — = S 1
8 2 374
3, 2 3 4
20 4738
3 5 5 6
6 2 g3
5 6 3 3
— 4+ — = 3.3
7T 9" 3
7 4 7 9
— 4+ - = T2
8 8 377
2 1 7 5
— 4+ - = [
5 5 5 "7
3 7 3
— 4+ - = 2,3
8 9 775
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% @ @% $ addition de ﬁt:?:zit(i)(r)lrsl f nf;?:;i:; §1p propriée ) (

Nom: Date: Note:
7 2 53 8 6 7 13 3
—+Z="=1— S+ L=—"=22
9 5 45 45 5 5 5 5
2 1 11 2 3 23 2
—+ - =— —+—-=—=1—
5 3 15 3 7 21 21
1 1 5 6 6 17 5
== = =1
8 2 8 8 9 12 12
2 3 7 3 5 7 41 5
Sy =2=1= e
8 2 4 4 3 4 12 12
3 2 19 9 3 4 5
—+i=—_=1= S+ ==1-
2 5 1 10 4 8 4
3 5 5 6 73 33
—+=-=3 —t+—-=—=1—
6 2 8 5 40 40
5 6 11 4 3 3 14
4o === S+ =
77 7 7 9 5 15
7 4 11 3 7 2 55 13
—t-=—=12 —+Z="=2"
8 8 8 8 3 7 21 21
2 1 3 7 5 59 3
4=z — 4+ ="=yg=
5 5 5 2 7 14 14
3 7 83 11 2 3 25 11
== SrZ=o—
8 9 7 72 7 2 14 14
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